=

A g B R U &

C

M 4% 4 A15H

% % | ERRERTREEBTER
15 | |RINKERE2—(FEHMEE#A) (TH
HA M | §#0 4 £ 4 A19H ~ £ 5% 2 A 288 ¥ E 8 = -
= i) %8 3,092,000 H = 1K i BB {if #& 2,319,000 H
¥ T @ #® 3,092,000 H
A Al # (M) %;L%d)ﬁ?t;ﬁb\
E,él.a) =+
® = % £ 1 & % 2 & £ 3 @ % 4 = L

=HEILE]
(B) ZHEILEE 1 540, 000 SR
AL aA—EILVATL (#) 2.400, 000 &AL

D SILEIILT -

2 FSILEILTYY (8) 1,593,900 KK
(%) TSEILYATLA 2 500,000

Py
HAZEEZ (&%) 2 560. 000
#) Erak 2. 250, 000 51

- ——
(%) LLELYY)—F 2 500000

i3] =

1. SERIE. HERRUHAHEERZEELL,

2. BERD TEREL] T, AILSNEREERR. BERNEVZOHXE,




=

A g B R U &

C

M 4% 4 A15H

% % | EIRARRRTRBREBERR
15 B | RIDKEIRE V2 —(FEM#EB#®RRA) T
H M| %% 4 5 4 A198 ~ &M 5 & 2 A 28 H P EHE —-———
= i @ 3,092,000 M £ 15 i (R f #% 2,319,000 F
¥ ® MK 3,092,000 F
A #L %8 (M) EHBEOLEL
7 ¢ £ 18 | £ 28 | £o@ | B 4@ | @ =
B)Z47 - HR—F 1480 000 i
1 =

1. SERIE. HERRUHAHEERZEELL,

2. BERD TEREL] T, AILSNEREERR. BERNEVZOHXE,




